(HAZ . TH)

¥ 4 A4 T HAE Ok KA #® OB % il C:
[Z2=KE) MEEREDEH,A, ZHERVUELWVIELEZREET S5
RABEZEREBOTERELXTS
1 BAMEZEZEFS 208, 467 208, 467
BERAEREE Ff% 183, 000| [ E A 183,00001 FERELFAERHE 17, 096 58FH
— [t 25,467 — it 25, 467
<R M =
At £ M SUCAHHI>INLEF1I-—4—1
(HL7E Hh ok 58)
oM om o 5, 4090t
T & o sV —bE 4T 1R
6, 700nt
[EBEDE 2 H] i
BUHTE DL, Hedo\ ME R OTHEERE D4R B SRS LB 2 b 2 REFERA 2, 4T TH9TH
R T LT
o RO
HmERTEMH =ZFITRFIAKFFTEMLI 99
o om B &5, 000m
WEITE TLaAT7E 2 £2, 000m
3 ERAGHESERE 1, 2725HH
<R M=
HETEH K (REHJR) e S5
¢ 2 ED
e Y wmEgkFE 1B 2LDK 75m




(HAZ . TH)

£ OX 4 Ai4EE PR | B ok 4 # & M it A
=5 DXBREWEDE(E
> SRRLMBER 3491123 2,617,948 2617 Qup|EEHFOXBRZRADER
ESRER = [E [ 1, 245, 793 EFE 652,721 EE 652,721
{1, 031,000 | B 679,000 | BfE 679,000 - R BEHIMER (BHMINEERHEESE)
— Bt 1, 144, 330 — 011, 286, 227 —ft1, 286, 227 281, 957 H5FH
798 (@11 43K
- EE R 4{5, 486 H1TH
108% (@10 2#)
IybEHEK 6 1% (@6 9 ki)
PR EE 4 7H (@03 3K)
[F& D% 2 ) )
LA TIT LT 3503 2 22 A M B M 0D WA BEME % 380 . R AT 2 B FESHER 11, 02852TH
L 100% (@1 2 4%#)
- ERRAZE (FERk - BED 41852656 TH
5, 391K (@6, 49 24K)
- BIEESHOXMER 59, 15854 TH
1, 112K (@95 8K)
- BERETR (& - @18) 29, 013 F2TH
k! 54, 624 K58TH
L= NS




3

(BA7 : TH)
£ OX 4 BAEE PR%E | 2 Rk 4 # & M i G2
bl [ ERFEHBEOHEICLY, ERERVEEHREOARE
HEEZEF#ETL. BEROR: - RIDLBLEFTEHERIT S
3 EEBEOHEIS 68, 859 08, 800(° AR we
ES5RE i A 7,175| [ A 7,175
(EEHBERE) —p 61,680|| —M 61, 680|FEEHBEDIEE it20 A
- RFEMHEE (BB 35 0A)
16 A
5, 6 2952TH
HEEHEEEME (WA 25 AN)
(DL 2 H) 4 A
RO « BEEHARET B0, SBRMHKBOEKEEIZ LS 1, 25653TH
B DAIERE I H O/ N2 & OV BEME 238, BREEZHE LT,
(2] BEE0EFHKR
H16 | H17 | H18 | H19 | H20 | H21
HEEE 305| 330| 330| 174 ol 63
FEEFHEE (HED) 46| 61| 66| 70| 53| 40
W= 201 42| 42| 42| 50| 33
HESHELBEME 0 0 5 3 3
Z D 26 19 19 25
FEHEEE (A D) 0 0 0| A14 A2
L F o N
- 3 -




(HAZ . TH)

@
i
i
=
il
e
%4
i
%.
R
red
%
B
mt
2

#H fii S

FTEHEMNOTVABRESNDIZLICHSIKBE. Wk, F
w8 210,009 21,299 BHRURBRRERS

EREOD
HESRE (*E?f 212, 299 (#Eﬁ 212, 299 21, 22959 FH

i
)
l
il
s

11, 208 AN (@11, 117A)

(&

B

]
EDEERRKR

H16 | H17 | H18 | H19 | H20 | H21
305 330( 330| 174 0 63

T
P
i}

(D=2 )]
B C 00 R OB L OIS B A 0 SE R 2 O RS 2[4 1 |
RO R - R TR B . TR R L B

l]||||%

RENADEE (BERRAH)
L P T IR BERE —
1
1
3

=0 (AN)

B E R

oo

B R

A

6

6

=R 6
20 |# 41 R S
5

5

4

4

3

5

28 | B IR

30 | TR

40 | Fz e BR

44 |45 i U

A7 | AR R T)
2 [E

(H21. 4. 1#FF A0 H22. 4. 1531

&
3
3
3
8
B}
4
7
6
0
0

N|O|o|(U|w]|k |00

B RA B

Fl}




